Unit 5 Lesson 2 - Solving Quadratics by Square Rooting both Sides

Recal] t.hat when we solve a quadratic we are using algebra to find the )ﬁ ’1 N ’rr’weol’s or the value(s) of the variable
that satisfy the equation. |

Ilg Previously learned that one method we can use to do this is to solve using “(,\ (fonng
Solve: y = 2542 — g Solve:y = 2x2 49

U"fol’tunately, not all equations can be solved by factoring and not all parabolas will cross the x-axis.
This is why we need additional methods to solve for the x-intercepts or the value of x that satisfies the equation.

For equations that have a b value of zero or contain a perfect square with adjustments, we can solve for x algebraically by
Isolating x2 or (x — h)? and then taking the square root of both sides of the equation.

Whenever YOU take the square root of a number, you must be sure to include the + symbol to represent both the positive and
negative roots and to ensure that you get two solutions.

Examples: Solve each quadratic by taking the square root of both sides.
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Sometimes when we take the square root, the number we take the square root of is NOT a perfect square.
We should simplify the radical to find the EXACT value of our answer.

Examples where radicand (value under the radical) is not a perfect square.
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Sometimes when we take the square root, the number we take the square root of is NOT positive.
A negative value under the radical indicates that the quadratic equation does not have real roots. The parabola will never cross

the x-axis or have real x-intercepts.

We can still find a value of x that satisfies the equation. These values are a part of the complex number system and are called
Mag\ng \~d Nuwm \o CV¥S . Toindicate the solution is imaginary, we use i. { = v~-1
S

Examples where radicand (value under the radical) is not positive.
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